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(1) cos135°, sin135° D% K X,

(2) 0° < 6 < 360° DHIFAT, cosf = % YIB 0 RTRTRD X,

fa’E 3-2

LA DER ABCD 128\,

AB =30, ZADC = /BCD =90° T®» %,

WA CD EiZ ZAHB =90° £ %2 % i H #H% &
a=/ABH, =/CBH i3 iZ8ifaTdb.

sina = sinﬁz% Lo,

E)
(1) cosa, cosfS DIEZ KD X,

(2) ZAHD DKEX % o, BD D HLBERED
ZHWTERYE,

(3) AH,BH OEE 2 ZhZNRd &,
(4) AD,BC DEE 2 ZhZhRd X,

&R 3-3
(1) FHEDH O IZDWT, cosb, sinf DfH%Z
FhnEnkRD X,

(2) HE DA O I1ZDWT, cosh, sinf D%
FnEhkd X,
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FOHLHERTINE LW S22 40k, DLRNOMERZ KD X,

(1) HEEHNTRTLYUTTH S
(2) 5 HORKEA4TH D
(3) HBHDORAMEN4THY, 2D, HZHOB/IMEN2TH S

7878 3-5
ABCDEFGHIDI ANZRD XS ANETIMIZHT B HED
Bk E R &,

(1) 4 AL 3 AL 24

(2) 5 A 2 A, 2A

(3) 3A. 3A. 3A
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RD2REBD T Z 7 %47,

(THRDREEE, 9. y U bRl T2 &, )
(1) y=a2*+4x +3
(2) y=-222+2+1

(3) y= (-3 +6)
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